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8 3 1,865 986 878 1,865 100.00%
8 9 1,857 988 869 1,857 100.00%
8 3 1,061 829 163 993 93.58%
8 9 949 749 110 860 90.66%
8 3 679 642 36 679 100.00%
8 9 695 681 14 695 100.00%
8 3 3,606 2,458 1,079 3,538 98.11%
8 9 3,502 2,419 994 3414 97.46%
8 3 24,485 18 9 4
18 9 25,461 18 3
18 3 28,091 18
18 9 28,964
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18 9 18 3
7.97% 8.15%
(4% ) 18 9 18 3 0.18
18 9 ( ) 18 3 ( )
48,180 47 157
28,139 27,198
2
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18 9 18 3

( (%) ( ) (%)

2,098 75 2,226 8.2
213 0.8 209 0.8
16 0.1 13 0.0
332 1.2 299 1.1
49 0.2 45 0.2

2,714 9.6 2,626 9.7
42 0.2 34 0.1
1 0.0 0 0.0
255 0.9 296 11

3,866 13.7 3,880 14.3
533 1.9 535 2.0

2,678 95 2,226 8.2

2,911 10.3 3,100 114
36 0.1 71 0.3

15,752 56.0 15,567 57.2
438 1.6 - -

11,949 425 11,630 42.8

28,139 100.0 27,198 100.0
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2205 | 2153 | a142 7 149 | 2397 | 2212 | a185 | 3 189
2205 | 2153 | a 142 7 149 | 2397 | 2212 | a185 | 3 189
18 9 C ) 18 3 ()
525 | 486 A39 17 57| 243 | 262 19 26 6
1215 | 1,208 AB 6 13| 3,003 | 2,956 A4T7 6 53
223 | 221 Al 3 5| 2203 2,174 A28 3 32
992 | 987 N 2 8| 800 781 Al8 2 21
3,795 | 3,710 A84| 126 211 | 3580 | 3544 A36 | 131 167
5536 | 5405| a130| 151 | 282 | 6827 | 6,763 AG4 | 163 227
18 4 ~9 * 18 4 ~9
4 5,000 5/12 05
5 1,300 6/10
18 4 -9 6/23 53
6/24 6/28 73 35
2191 7121
o/15 o 8/19 ( 10/18)
9/22
18 4 -9
4122 14
4124 2
7116 ( 717
8/5
9/10
9/23 12




